## Perfect Prishchepov Groups

# Ihechukwu Chinyere\* and Bernard Oduoku Bainson

September 1, 2021

#### Abstract

We study cyclically presented groups of type  $\mathfrak{F}$  to determine when they are perfect. It turns out that to do so, it is enough to consider the Prishchepov groups, so modulo a certain conjecture, we classify the perfect Prishchepov groups P(r,n,k,s,q) in terms of the defining integer parameters r,n,k,s,q. In particular, we obtain a classification of the perfect Campbell and Robertson's Fibonacci-type groups H(r,n,s), thereby proving a conjecture of Williams, and yielding a complete classification of the groups H(r,n,s) that are connected Labelled Oriented Graph groups.

**Keywords:** Prishchepov groups, cyclically presented groups, perfect groups, LOG groups.

**MSC:** 12E05, 20F05, 20F65, 57M07, 57M15.

#### 1 Introduction

Let  $F_n$  be the free group of rank n with basis  $X = \{x_0, x_1, \dots, x_{n-1}\}$ . Let  $\theta$  denote the shift automorphism of  $F_n$  of order n such that  $x_i \mapsto x_{i+1}$  ( $0 \le i < n$ ), where the subscripts are taken modulo n. A group presentation is called a *cyclic presentation* if it is of the form

$$P_n(w) = \langle x_0, x_1, \cdots, x_{n-1} \mid w, \theta(w), \cdots, \theta^{n-1}(w) \rangle$$
 (1)

for some positive integer n, where w is a (cyclically) reduced word on  $X^{\pm 1} = \{x_0^{\pm 1}, x_1^{\pm 1}, \cdots, x_{n-1}^{\pm 1}\}$  (see [29]). A group is said to be *cyclically presented* if it has a presentation of the form (1), in which case the group is often denoted by  $G_n(w)$ . The shift defines an automorphism of  $G_n(w)$  with exponent n and

<sup>\*</sup>Corresponding author

the resulting  $\mathbb{Z}_n$ -action on  $G_n(w)$  determines the shift extension  $E_n(w) = G_n(w) \rtimes_{\theta} \mathbb{Z}_n$ , which admits a balanced presentation of the form

$$E_n(w) = \langle x, t \mid t^n, W \rangle,$$

where W = W(x,t) is obtained by rewriting w in terms of the substitutions  $x_i = t^i x t^{-i}$  (see [29, Theorem 4]), and the shift on  $G_n(w)$  is then realized by conjugation by t in  $E_n(w)$ . The group  $G_n(w)$  is recovered as the kernel of the retraction  $\nu^0 : E_n(w) \longrightarrow \mathbb{Z}_n = \langle t \mid t^n \rangle$ , such that x maps to the identity.

Cyclically presented groups have been an object of various investigations not just from the algebraic point of view as in [1, 3, 10, 13, 14, 19, 39] for example, but also from topological perspectives due to their close connections with the topology of closed orientable 3-manifolds (see for example, [7, 8, 9, 12, 26, 35, 37]). This article takes the former viewpoint and concerns the family of cyclically presented groups of type  $\mathfrak{F}$  from [1], which are defined by presentations

$$\mathcal{P} = \left\langle x_0, \cdots, x_{n-1} \, \middle| \, \prod_{i=0}^{r-1} x_{j+iq} \left( \prod_{i=0}^{s-1} x_{j+k-1+iq} \right)^{\epsilon} \, (0 \le j < n) \right\rangle, \quad (2)$$

where  $k, q, r, s \geq 1$  and  $n \geq 2$  are integers,  $\epsilon \in \{\pm 1\}$  and subscripts taken modulo n. Our aim is to determine when cyclically presented groups of type  $\mathfrak{F}$  are perfect or trivial. According to [1, Lemma 1], a group with presentation  $\mathcal{P}$  is the kernel of the retraction

$$\nu^q: E = \langle y, t \mid t^n, y^r t^A y^{\epsilon s} t^{-B} \rangle \longrightarrow \mathbb{Z}_n = \langle t \mid t^n \rangle,$$

such that  $\nu^q(x) = t^q$  and  $\nu^q(t) = t$ ; and the parameters  $r, n, k, s, q, \epsilon, A, B$  are related by the relations  $q(r + \epsilon s) \equiv (B - A) \mod n$  and

$$k \equiv \begin{cases} (qr + A + 1) \bmod n, & \text{if } \epsilon = 1\\ (q(r - s) + A + 1) \bmod n, & \text{if } \epsilon = -1 \end{cases}$$

where the second relation comes from rewriting as in [1, 33, 39]. The Prishchepov groups P(r, n, k, s, q) are of principal interest in this article and they arise as the groups defined by  $\mathcal{P}$  in the special case where  $\epsilon = -1$ , which means that

$$A \equiv (k - q(r - s) - 1) \mod n$$
, and  $B \equiv (k - 1) \mod n$ .

As the name implies the Prishchepov groups were first considered in [33] by Prishchepov; and later by others (see for example [11, 36, 37, 39], noting that the roles of A and B are interchanged in [36, 39]). For particular

choices of parameters these groups are known: Conway's Fibonacci groups F(2,n) = P(2,n,3,1,1) of [15], the groups of Fibonacci type  $G_n(m,k) = P(2,n,k+1,1,m)$  of [9, 28] and more (see [3, 4, 5, 6, 23, 35]). Therefore the Prishchepov groups provide a means to obtain a generalized treatment of these groups. More important to us in this article is that to classify the perfect cyclically presented groups of type  $\mathfrak{F}$ , it is enough to do so for the Prishchepov groups (see Lemma 2.1), hence the rest of this work focuses on the groups P(r, n, k, s, q).

In describing the properties of P(r,n,k,s,q) in terms of the parameters k,n,r,s,q it is often helpful to make the following assumptions. Firstly, we can assume that  $r \geq s$  since the groups P(r,n,k,s,q) and P(s,n,n-k+2,r,q) are isomorphic by [39, Lemma 14]. For the second let N=n/(n,q,k-1), Q=q/(n,q,k-1) and  $K-1\equiv ((k-1)/(n,q,k-1))$  mod N. Then as described in [18] (see also, [39, Corollary 3]) the group P(r,n,k,s,q) decomposes as a free product of (n,q,k-1) copies of P(r,N,K,s,Q). In particular P(r,n,k,s,q) is perfect (resp. trivial) if and only if P(r,N,K,s,Q) is perfect (resp. trivial). Hence, when suitable we may assume that (n,q,k-1)=1, which is the same as saying that  $\mathcal P$  as given in (2) is irreducible. We may further assume that q=1, since P(r,n,k,s,q) being perfect and (n,q,k-1)=1 implies (n,q)=1 (see Lemma 2.3), in which case  $P(r,n,k,s,q)\cong P(r,n,\hat q(k-1)+1,s,1)$  where  $q\hat q\equiv 1$  mod n by [39, Theorem 16]. The results in the general setting can then be obtained as corollaries of the ones with the above assumptions.

Two subfamilies of P(r, n, k, s, q) play a vital role in this article for completely opposite reasons as we shall see. These are the groups H(r, n, s) = P(r, n, r + 1, s, 1) of [5], and the generalized Sieradski groups S(r, n) = P(r, n, 2, r - 1, 2),  $(r \ge 2)$  of [8]. In fact, the main motivation for attempting to classify the perfect cyclically presented groups of type  $\mathfrak{F}$  is the following conjecture by Williams regarding the perfectness of the groups H(r, n, s).

**Conjecture 1.1.** [40, Conjecture 1] Let  $r, s \ge 1$  and  $n \ge 2$  such that  $r \not\equiv 0 \mod n$ ,  $s \not\equiv 0 \mod n$ . Then  $H(r, n, s)^{ab} \not\equiv 1$ .

Our main result completely describes when the group H(r, n, s) is perfect or trivial in terms of the parameters r, n, s. As an immediate consequence, we obtain proof of Conjecture 1.1. The precise statement of our main result is the following.

**Theorem A.** For integers  $r, s \ge 1$  and  $n \ge 2$ , the following are equivalent:

1. The group H(r, n, s) is perfect;

- 2. The group H(r, n, s) is trivial;
- 3. |r-s|=1 and either  $r \equiv 0 \mod n$  or  $s \equiv 0 \mod n$ .

In [40] an incomplete classification of the groups H(r, n, s) that are connected Labelled Oriented Graph (LOG) groups (see [22, 23, 24, 25, 40] for more details about LOG groups) was given, the missing ingredient being a proof of Conjecture 1.1. Therefore, with the conjecture now proved we have a complete classification result which can be stated as follows.

**Corollary B.** Let  $r, s \ge 1$  and  $n \ge 2$ . Then the group H(r, n, s) is a connected LOG group if and only if one of the following holds:

- 1. r = s and (n, r) = 1, in which case H(r, n, s) is the (n, r)-torus knot group.
- 2. (n,r,s)=2 and either  $r\equiv 0 \bmod n$  or  $s\equiv 0 \bmod n$ , in which case  $H(r,n,s)\cong \mathbb{Z}$ .

Next, we turn attention to the Prishchepov groups of type  $\tilde{\mathfrak{Z}}$ .

**Definition 1.2** (type  $\tilde{\mathfrak{Z}}$ ). The group P(r, n, k, s, q) is of type  $\tilde{\mathfrak{Z}}$  if any of the following holds:

type 
$$\mathfrak{Z}: q(r-s) \equiv 2(k-1) \bmod n$$
 (eqivalently  $A \equiv B \bmod n$ ); or type  $\mathfrak{Z}': q(r+s) \equiv 0 \bmod n$ .

The type  $\mathfrak{Z}$  was introduced in [30] and notably contains the generalized Sieradski groups. The two types are related in the sense that P(r, n, k, r-1, 1) is of type  $\mathfrak{Z}$  (resp. type  $\mathfrak{Z}'$ ) if and only if P(k-1, n, r+1, k-2, 1) is of type  $\mathfrak{Z}'$  (resp.  $\mathfrak{Z}$ ), and Lemma 2.6 shows that the abelianizations of the two groups are related. Also, if (n,q)=1 and P(r,n,k,s,q) is both of type  $\mathfrak{Z}$  and of type  $\mathfrak{Z}'$ , then it can be shown that either n is odd and  $P(r,n,k,s,q)\cong H(r,n,s)$  or n is even and P(r,n,k,s,q) maps onto H(r,n/2,s). The latter observation together with Theorem A, is crucial in describing the perfect groups P(r,n,k,s,q) of type  $\tilde{\mathfrak{Z}}$ . Indeed, part (2) of Theorem C essentially excludes the groups that are both of type  $\mathfrak{Z}$  and of type  $\mathfrak{Z}'$ .

**Theorem C.** Let  $n \geq 2$ ,  $k, q \geq 1$  and  $r \geq s \geq 1$  be integers such that (n, k - 1, q) = 1. Suppose P(r, n, k, s, q) of type  $\tilde{\mathfrak{Z}}$ . Then the following are equivalent:

- 1. The group P(r, n, k, s, q) is perfect;
- 2. |r-s|=1, (n,q)=1 and (k-1-qr,n)=1.

The classification of the trivial cyclically presented groups of type  $\mathfrak{Z}$  easily follows from Theorem C, but can also be deduced from [39, Theorem 20].

**Corollary D.** Let  $n \geq 2$ ,  $k, q \geq 1$  and  $r \geq s \geq 1$  be integers such that (n, k-1, q) = 1. Suppose P(r, n, k, s, q) is of type  $\mathfrak{Z}$ . Then the following are equivalent:

- 1. The group P(r, n, k, s, q) is trivial;
- 2. |r-s|=1 and either  $k \equiv 1 \mod n$  or  $k \equiv 1+q(r-s) \mod n$ .

The type  $\tilde{\mathfrak{Z}}$  condition assumed in Theorem C is not a mere convenient restriction as it is satisfied in all known examples where the group P(r,n,k,s,q) is perfect and nontrivial, assuming (n,k-1,q)=1 and r< n. In fact, the following conjecture implies that under these conditions, being of type  $\tilde{\mathfrak{Z}}$  is a necessary condition for P(r,n,k,s,q) to be a perfect group.

**Conjecture 1.3.** Let  $n, k, q \ge 1$  and  $2 \le r < n$  be integers such that (n, k - 1, q) = 1. Suppose that  $k \not\equiv 1 \mod n$  and  $k \not\equiv 1 + q \mod n$ . If P(r, n, k, r - 1, q) is perfect, then it is of type  $\tilde{\mathfrak{Z}}$ .

The removed cases  $k \equiv 1 \bmod n$  and  $k \equiv 1+q \bmod n$  in Conjecture 1.3 give rise to the trivial group by Lemma 2.2. Also if  $r \equiv 0 \bmod n$  and (n,q)=1, then P(r,n,k,r-1,q) is perfect by Lemma 2.7. (Note that although (n,q)=1 is not given as a condition in the statement of Conjecture 1.3, if P(r,n,k,r-1,q) is perfect and (n,k-1,q)=1, then (n,q)=1 by Lemma 2.3). Finally, Theorem E can be used to reduce the cases where r>n to the cases r< n. Hence, all the removed cases are well-understood. Therefore, a proof of Conjecture 1.3, together with Theorem C, will yield the complete classification of perfect groups P(r,n,k,s,q). Note that following the irreducible assumption (n,k-1,q)=1, Conjecture 1.3 implies that for even  $n\geq 2$  and  $r\not\equiv 0 \bmod n$ , the group P(r,n,k,r-1,q) is perfect if and only if the conditions of Lemma 2.2 hold, that is, P(r,n,k,r-1,q) is the trivial group.

Our final result shows that to determine if P(r, n, k, r - 1, q) is perfect, then it can be assumed that  $1 \le r \le n$ .

**Theorem E.** Let  $k, q \ge 1$ ,  $1 \le r \le n$ ,  $\alpha, \beta \ge 0$  and  $n \ge 2$  be integers such that (n, k-1, q) = 1. Then  $P(\alpha n + r, n, k, \beta n + r - 1, q)$  is perfect if and only if  $\alpha = \beta$  and P(r, n, k, r - 1, q) is perfect.

#### 1.1 Method of proof

The proofs presented in this article make use of the theory of circulant matrices. The circulant matrix  $C = circ_n(c_0, c_1, \dots, c_{n-1})$  is the  $n \times n$  matrix whose first row is  $c_0, c_1, \dots, c_{n-1}$  and where each subsequent row is a cyclic shift of its predecessor by one column. Hence, for each  $0 \le i < n$ , if the exponent sum of the generator  $x_i$  in the word w is  $c_i$ , then the relation matrix of the abelianization  $G_n(w)^{ab}$  of  $G_n(w)$  is the circulant matrix C. The representer polynomial of C (alternatively of  $G_n(w)^{ab}$  or  $G_n(w)$ ) is the polynomial

$$f(t) = \sum_{i=0}^{n-1} c_i t^i.$$

It is well-known (see for example [17, Equation 3.2.14] or [27, Theorem 3, page 78]) that the absolute value of the determinant of C is given by  $|\prod_{\lambda^n=1} f(\lambda)|$ , where the product is taken over all nth roots of unity  $\lambda$ . Therefore the order of  $G_n(w)^{ab}$ , denoted by  $|G_n(w)^{ab}|$ , is equal to the absolute value of the determinant of C when it is nonzero, and  $G_n(w)^{ab}$  is infinite otherwise. This is a well-known fact (see [27, Theorem 3, page 78]) that has been commonly used in the study of cyclically presented groups. For the Prishchepov group P(r, n, k, s, q) with the cyclic presentation given in (2) but with  $\epsilon = -1$ , the corresponding representer polynomial is given by:

$$f(t) = \sum_{i=0}^{r-1} t^{iq} - t^{k-1} \sum_{i=0}^{s-1} t^{iq}.$$
 (3)

Therefore, if  $P(r, n, k, s, q)^{ab}$  is a finite group, then its order is is given by the formula

$$|P(r, n, k, s, q)^{ab}| = \Big| \prod_{\lambda^n = 1} f(\lambda) \Big|. \tag{4}$$

It is not hard to see that if the representer polynomials of  $G_n(u)$  and  $G_n(u')$  are equal to  $\sum_{i=0}^{n-1} c_i t^i$ , say, then  $G_n(u)^{ab} \cong G_n(u')^{ab} \cong G_n(x_0^{c_0} x_1^{c_1} \dots x_{n-1}^{c_{n-1}})^{ab}$ . In general, if  $G_n(w)$  has representer polynomial f(t), then  $G_n(w)^{ab}$  is isomorphic to the additive group of the quotient of the ring  $\mathbb{Z}[t]$  by the ideal  $\langle f(t), t^n - 1 \rangle$  so  $G_n(w)$  is perfect (alternatively  $\mathbb{Z}[t]/\langle f(t), t^n - 1 \rangle$  is the zero ring) if and only if f(t) is a unit in the quotient ring  $\mathbb{Z}[t]/\langle t^n - 1 \rangle$  by [27, Theorem 4, page 78]. This provides an alternative method of proving perfectness which is sometimes easier to use than the formula in (4). In particular we apply it to obtain an alternative proof of the classification of the perfect generalized Sieradski groups S(r,n) (see Section 4), and we expect that it may be easier to prove Conjecture 1.3 using this approach.

#### 1.2 Structure

The rest of this article is organised as follows. In Section 2 we obtain various preliminary results that are used in subsequent sections. In Section 3 we prove Theorem A and deduce Corollary B. In Section 4 we prove Theorem C and deduce Corollary D. In Section 5 we prove Theorem E. In Section 6 we conclude and pose a question concerning trivial Prishchepov groups.

### 2 Preliminaries

This section contains preliminary results that are used in the subsequent sections. In terms of the parameters r, n, k, s, q, these results give necessary conditions for P(r, n, k, s, q) to be perfect, sufficient conditions for P(r, n, k, s, q) to be trivial, and the relationship between the abelianizations of a certain pair of Prishchepov groups.

**Lemma 2.1.** Let  $k, r, s, q \ge 1$  and  $n \ge 2$  be integers and let  $\mathcal{P}$  be as in (2). If  $\mathcal{P}$  defines a perfect group, then  $|r + \epsilon s| = 1$ , so  $\epsilon = -1$ .

*Proof.* By adding the relations  $x_i = x_0$  for  $i = 1, 2, \dots, n-1$  to  $\mathcal{P}$ , the resulting presentation is equivalent to  $\langle x_0 \mid x_0^{r+\epsilon s} \rangle$ , which defines the cyclic group of order  $|r+\epsilon s|$ . Therefore if  $\mathcal{P}$  defines a perfect group, then  $|r+\epsilon s| = 1$ , so  $\epsilon = -1$  since  $r, s \geq 1$ .

When  $\epsilon = -1$  the presentation  $\mathcal{P}$  in (2) defines the Prishchepov groups P(r, n, k, s, q). The next result gives a sufficient condition for P(r, n, k, s, q) to be the trivial group.

**Lemma 2.2.** ([39, Theorem 17(b)]) Let  $k, r, s, q \ge 1$  and  $n \ge 2$  be integers. If |r - s| = 1 and either  $k \equiv 1 \mod n$  or  $k \equiv 1 + q(r - s) \mod n$ , then P(r, n, k, s, q) is trivial.

As earlier mentioned to classify the perfect groups P(r, n, k, s, q) it is enough to restrict to the case where (n, q, k) = 1. With this restriction, it becomes a necessary condition for P(r, n, k, s, q) to be perfect that  $k \equiv 1 \mod (n, q)$  as the following result shows.

**Lemma 2.3.** Let  $n, k, r, s, q \ge 1$  be integers. If P(r, n, k, s, q) is perfect, then  $k \equiv 1 \mod (n, q)$ .

*Proof.* Let P(r, n, k, s, q) be a perfect group. Then |r - s| = 1 by Lemma 2.1. Let N be any divisor of (n, q). Then the map from the group P(r, n, k, s, q) to the group P(r, N, k, s, q) sending the generator  $x_i$  to the generator  $x_{i \mod N}$ 

is a surjective group homomorphism. The group P(r,N,k,s,q) has a presentation P of the form

$$P = \left\langle x_0, \dots, x_{N-1} \mid \prod_{i=0}^{r-1} x_{j+iq} = \prod_{i=0}^{s-1} x_{j+k-1+iq} \ (0 \le j < N) \right\rangle$$

where the subscripts are taken modulo N. As  $q \equiv 0 \mod N$ , we have that

$$P = \langle x_0, x_1, \cdots, x_{N-1} \mid x_j^r = x_{j+k-1}^s \ (0 \le j < N) \rangle$$
  
=  $\langle x_0, x_1, \cdots, x_{N-1} \mid x_j^r x_{j+k-1}^{-s} \ (0 \le j < N) \rangle.$ 

Suppose that  $k-1 \not\equiv 0 \mod N$ . Then in particular N > 1. Let m = N/(N, k-1) > 1. Note that P is a presentation of the free product of (N, k-1) copies of the group  $G_m(x_0^r x_1^{-s})$ . Since (r,s) = 1, we have  $G_m(x_0^r x_1^{-s}) \cong \mathbb{Z}_{|r^m-s^m|}$  by [1, Lemma 6]. Hence P(r, N, k, s, q) is not perfect since  $|r^m - s^m| > 1$ . Therefore  $k-1 \equiv 0 \mod N$ , as required.

Theorem E gives a connection between the abelianizations of P(r, n, k, s, q) and P(r', n, k, s', q) when  $r \equiv r' \mod n$  and  $s \equiv s' \mod n$ . We will deduce Theorem E from Corollary 2.5. The main ingredient used in the proof of the latter is the following.

**Lemma 2.4.** Let  $n, q, s, s' \ge 1$  be integers. If  $s - s' = \alpha n$  where  $\alpha > 0$ , (n, q) = 1,  $\lambda \ne 1$ , and  $\lambda^n = 1$ , then

$$\sum_{i=0}^{s-1} \lambda^{iq} = \sum_{i=0}^{s'-1} \lambda^{iq}.$$

*Proof.* Assume  $s \geq s'$ . Since (n,q) = 1, we have  $\lambda^q \neq 1$  so

$$\sum_{i=0}^{s-1} \lambda^{iq} = \sum_{i=0}^{s'-1} \lambda^{iq} + \sum_{i=s'}^{s-1} \lambda^{iq}$$

$$= \sum_{i=0}^{s'-1} \lambda^{iq} + \lambda^{s'q} \sum_{i=0}^{s-s'-1} \lambda^{iq}$$

$$= \sum_{i=0}^{s'-1} \lambda^{iq} + \lambda^{s'q} \sum_{i=0}^{\alpha n-1} \lambda^{iq}$$

$$= \sum_{i=0}^{s'-1} \lambda^{iq} + \lambda^{s'q} (\frac{\lambda^{\alpha nq} - 1}{\lambda^q - 1})$$

$$= \sum_{i=0}^{s'-1} \lambda^{iq}.$$

Corollary 2.5. Let  $r, s, k, q \ge 1$  and  $n \ge 2$ . Let  $r = \alpha n + r'$  and  $s = \beta n + s'$  for some integers  $\alpha, \beta > 0$  and  $1 \le r', s' \le n$ . Suppose  $r' \ne s'$ , (n, q) = 1 and  $|P(r', n, k, s', q)^{ab}|$  is finite. Then

$$|P(r, n, k, s, q)^{ab}| = \left|\frac{(r-s)}{(r'-s')}\right| \times |P(r', n, k, s', q)^{ab}|.$$

*Proof.* Let f(t) and f'(t) be the representer polynomials of  $P(r, n, k, s, q)^{ab}$  and  $P(r', n, k, s', q)^{ab}$  respectively. If  $\lambda^n = 1$  and  $\lambda \neq 1$ , Then  $f(\lambda) = f'(\lambda)$  by Lemma 2.4, so we have

$$|P(r, n, k, s, q)^{ab}| = \left| \prod_{\lambda^{n}=1} f(\lambda) \right|$$

$$= |f(1)| \times \left| \prod_{\lambda^{n}=1, \lambda \neq 1} f(\lambda) \right|$$

$$= |f(1)| \times \left| \prod_{\lambda^{n}=1, \lambda \neq 1} f'(\lambda) \right|$$

$$= |f(1)/f'(1)| \times |P(r', n, k, s', q)^{ab}|.$$

It is easy to show that f(1) = r - s and f'(1) = r' - s', as required.

**Lemma 2.6.** Let  $n, k \geq 2$  be integers. Then  $P(r, n, k, r - 1, 1)^{ab} \cong P(k - 1, n, r + 1, k - 2, 1)^{ab}$ .

*Proof.* If k=2 or r=1 then  $P(r,n,k,r-1,1)\cong P(k-1,n,r+1,k-2,1)$  is the trivial group by Lemma 2.2. Assume then that n,k>2 and r>1. As explained in the introduction it suffices to show that the representer polynomials of the two groups P(r,n,k,r-1,1) and P(k-1,n,r+1,k-2,1) are the same. Suppose  $r\leq k$ . Then the representer polynomial of the group P(k-1,n,r+1,k-2,1) is

$$f(t) = \sum_{i=0}^{k-2} t^i - t^r \sum_{i=0}^{k-3} t^i.$$

Therefore

$$f(t) = \sum_{i=0}^{k-2} t^i - \sum_{i=0}^{k-3} t^{i+r}$$

$$= \left(\sum_{i=0}^{r-1} t^i + \sum_{i=r}^{k-2} t^i\right) - \left(\sum_{i=r}^{k-2} t^i + \sum_{i=k-1}^{k+r-3} t^i\right)$$

$$= \sum_{i=0}^{r-1} t^i - \sum_{i=k-1}^{k+r-3} t^i$$

$$= \sum_{i=0}^{r-1} t^i - t^{k-1} \sum_{i=0}^{r-2} t^i$$

which is the representer polynomial of the group P(r, n, k, r-1, 1). By replacing k with r+1 we obtain a proof for the case when k < r.

We close this section with a result that allows one to assume that  $r \not\equiv 0 \mod n$  when proving that P(r, n, k, s, q) is perfect.

**Lemma 2.7.** Let  $k, r, q \ge 1$  and  $n \ge 2$  be integers. If  $r \equiv 0 \mod n$  and (n,q) = 1, then the group P(r,n,k,r-1,q) is perfect.

Proof. Let  $r \equiv 0 \mod n$  and (n,q) = 1. Then  $P(r,n,k,r-1,q) \cong P(r,n,K,r-1,1)$ ,  $1 \leq K \leq n$ , where  $K-1 \equiv \hat{q}(k-1) \mod n$ ,  $q\hat{q} \equiv 1 \mod n$ . If K=1 or n=2, then P(r,n,K,r-1,1) is the trivial group by Lemma 2.2. Assume  $n,K \geq 2$ . Then, by Lemma 2.6 we have that  $P(r,n,K,r-1,1)^{ab} \cong P(K-1,n,r+1,K-2,1)^{ab}$ . The result follows since the group  $P(K-1,n,r+1,K-2,1)^{ab}$ . The result follows since the group  $P(K-1,n,r+1,K-2,1)^{ab}$ .

### 3 The groups H(r, n, s)

In this section is to give a proof of Theorem A and deduce Corollary B. To do so, we first do some calculations involving the representer polynomial f(t) of P(r, n, k, s, q) evaluated at an nth root of unity. Recall from (3) that  $f(t) = F(t)[1 - t^{k-1}] + \sum_{i=s}^{r-1} t^{iq}$  where

$$F(t) = \sum_{i=0}^{s-1} t^{iq},\tag{5}$$

and where it is assumed that  $r \geq s$ . Let  $\bar{z}$  denote the complex conjugate of  $z \in \mathbb{C}$  and let

$$\mathcal{F}(t) = \begin{cases} f(t) - 1, & \text{if } t \in \mathbb{R} \\ f(t)f(\bar{t}) - 1, & \text{if } t \in \mathbb{C} - \mathbb{R} \end{cases}$$
 (6)

If r = s + 1 and  $\lambda \in \mathbb{C} - \mathbb{R}$  is an *n*th root of unity, then it can be shown (see proof of Theorem 3.1) that

$$\mathcal{F}(\lambda) = 2F(\lambda)F(\bar{\lambda})[1 - \Re(\lambda^{k-1})] + 2\Re(\bar{\lambda}^q F(\bar{\lambda})[1 - \lambda^{k-1}]) \tag{7}$$

where  $\Re(z)$  means the real part of  $z \in \mathbb{C}$ .

We are now in the position to give our next result, which is the main ingredient used in the proof of Theorem A.

**Theorem 3.1.** Let  $n \geq 2$ ,  $k, q \geq 1$  and  $r \geq s \geq 1$  be integers and let  $\mathcal{F}(t)$  be as in (6). If P(r, n, k, s, q) is perfect, then r = s+1 and either  $|\mathcal{F}(\lambda)+1| < 1$  for some nth root of unity  $\lambda$ , or  $|\mathcal{F}(\lambda)+1| = 1$  for all nth roots of unity  $\lambda$ .

Proof. Let f(t) be the representer polynomial of P(r, n, k, s, q). Since f(t) has real coefficients, its nonreal roots come in complex conjugate pairs. Let S(n) denote a set whose elements are z, for each distinct complex conjugate pair  $\{z, \bar{z}\}$  of nth roots of unity. (For example,  $S(2) = \{-1, 1\}$  and  $S(4) = \{-1, 1, \pm i\}$ ). Let P(r, n, k, s, q) be a perfect group, so  $P(r, n, k, s, q)^{ab}$  is a finite. For each  $\lambda \in S(n)$ , set  $\mathcal{L}(\lambda) = f(\lambda)$  if  $\lambda$  is real and  $\mathcal{L}(\lambda) = f(\lambda)f(\bar{\lambda})$  otherwise. Then by (4) we have

$$|P(r, n, k, s, q)^{ab}| = \prod_{\lambda \in \mathcal{S}(n)} \mathcal{L}(\lambda).$$
(8)

Note that r = s + 1 by Lemma 2.1 since P(r, n, k, s, q) is perfect. Hence,  $f(t) = F(t)(1 - t^{k-1}) + t^{sq}$  where F(t) is as in (5). If  $\lambda$  is nonreal, then

$$\begin{split} \mathcal{L}(\lambda) &= f(\lambda)f(\bar{\lambda}) = (F(\lambda) - \lambda^{k-1}F(\lambda) + \lambda^{sq})(F(\bar{\lambda}) - \bar{\lambda}^{k-1}F(\bar{\lambda}) + \bar{\lambda}^{sq}) \\ &= F(\lambda)F(\bar{\lambda}) - \bar{\lambda}^{k-1}F(\lambda)F(\bar{\lambda}) + \bar{\lambda}^{sq}F(\lambda) - \lambda^{k-1}F(\lambda)F(\bar{\lambda}) + F(\lambda)F(\bar{\lambda}) \\ &- \lambda^{k-1}\bar{\lambda}^{sq}F(\lambda) + \lambda^{sq}F(\bar{\lambda}) - \bar{\lambda}^{k-1}\lambda^{sq}F(\bar{\lambda}) + 1. \end{split}$$

Note that

$$\lambda^{sq} F(\bar{\lambda}) = \lambda^q \sum_{i=0}^{s-1} \lambda^{(s-1)q} \bar{\lambda}^{iq}$$
$$= \lambda^q \sum_{i=0}^{s-1} \lambda^{(s-1-i)q}$$
$$= \lambda^q F(\lambda).$$

Similarly we can show that  $\bar{\lambda}^{sq}F(\lambda) = \bar{\lambda}^q F(\bar{\lambda})$ . Hence

$$\begin{split} \mathcal{L}(\lambda) &= F(\lambda)F(\bar{\lambda}) - \bar{\lambda}^{k-1}F(\lambda)F(\bar{\lambda}) + \bar{\lambda}^{sq}F(\lambda) - \lambda^{k-1}F(\lambda)F(\bar{\lambda}) + F(\lambda)F(\bar{\lambda}) \\ &- \lambda^{k-1}\bar{\lambda}^{sq}F(\lambda) + \lambda^{sq}F(\bar{\lambda}) - \bar{\lambda}^{k-1}\lambda^{sq}F(\bar{\lambda}) + 1 \\ &= 2F(\lambda)F(\bar{\lambda}) - \bar{\lambda}^{k-1}F(\lambda)F(\bar{\lambda}) + \bar{\lambda}^qF(\bar{\lambda}) - \lambda^{k-1}F(\lambda)F(\bar{\lambda}) - \lambda^{k-1}\bar{\lambda}^qF(\bar{\lambda}) \\ &+ \lambda^qF(\lambda) - \bar{\lambda}^{k-1}\lambda^qF(\lambda) + 1 \\ &= F(\lambda)F(\bar{\lambda})[2 - \lambda^{k-1} - \bar{\lambda}^{k-1}] + \bar{\lambda}^qF(\bar{\lambda})[1 - \lambda^{k-1}] + \lambda^qF(\lambda)[1 - \bar{\lambda}^{k-1}] + 1 \\ &= 2F(\lambda)F(\bar{\lambda})[1 - \Re(\lambda^{k-1})] + 2\Re(\bar{\lambda}^qF(\bar{\lambda})[1 - \lambda^{k-1}]) + 1 \\ &= \mathcal{F}(\lambda) + 1. \end{split}$$

It then follows from (6) that  $\mathcal{L}(\lambda) = \mathcal{F}(\lambda) + 1$  for each *n*th root of unity  $\lambda$ . Hence by (8) we have

$$|P(r, n, k, s, q)^{ab}| = \prod_{\lambda \in \mathcal{S}(n)} |\mathcal{F}(\lambda) + 1|.$$

Therefore,  $P(r, n, k, s, q)^{ab} = 1$  implies that either  $|\mathcal{F}(\lambda) + 1| < 1$  for some nth root of unity  $\lambda$  or  $|\mathcal{F}(\lambda) + 1| = 1$  for all nth roots of unity  $\lambda$ , as required.  $\square$ 

By restricting to H(r, n, r-1) = P(r, n, r+1, r-1, 1), equations (5) and (7) become  $F(t) = 1 + t + t^2 + \dots + t^{r-2}$  and  $\mathcal{F}(\lambda) = 2F(\lambda)F(\bar{\lambda})[1 - \Re(\lambda^r)] + 2\Re(\bar{\lambda}F(\bar{\lambda})[1 - \lambda^r])$  respectively. Our next result shows that  $2\Re(\bar{\lambda}F(\bar{\lambda})[1 - \lambda^r]) = 0$ , so  $\mathcal{F}(\lambda) = 2F(\lambda)F(\bar{\lambda})[1 - \Re(\lambda^r)]$ .

**Lemma 3.2.** Let  $F(t) = 1 + t + t^2 + \dots + t^{r-2}$  and let  $z \in \mathbb{C}$  such that |z| = 1. Then  $\Re(zF(z)[1-\bar{z}^r]) = 0$ .

*Proof.* Notice that  $2\Re(zF(z)[1-\bar{z}^r]) = zF(z)[1-\bar{z}^r] + \bar{z}F(\bar{z})[1-z^r]$ , and

$$zF(z)[1 - \bar{z}^r] + \bar{z}F(\bar{z})[1 - z^r] = zF(z) - \bar{z}\bar{z}^{r-2}F(z) + \bar{z}F(\bar{z}) - zz^{r-2}F(\bar{z})$$

$$= zF(z) - \bar{z}F(\bar{z}) + \bar{z}F(\bar{z}) - zF(z)$$

$$= 0.$$

Therefore  $\Re(zF(z)[1-\bar{z}^r])=0$ , as required.

We can now give a proof of Theorem A.

Proof of Theorem A. (1)  $\Longrightarrow$  (3). Let H(r, n, s) be a perfect group. Since  $H(r, n, s) \cong H(s, n, r)$  we assume that  $r \geq s$ . Hence, r = s + 1 by Lemma 2.1. If n = 2, then there is nothing left to show since either s is even or r is even. Assume n > 2 and let  $\lambda$  be a nonreal nth root of unity. Let

 $F(t) = 1 + t + t^2 + \dots + t^{s-1}$  and let  $\mathcal{F}(\lambda)$  be as in (7) but with k = r + 1 and q = 1. Then by Lemma 3.2 we have

$$\mathcal{F}(\lambda) = 2F(\lambda)F(\bar{\lambda})[1 - \Re(\lambda^r)].$$

By Theorem 3.1 we must have that  $|\mathcal{F}(\lambda)+1| \leq 1$ . But  $\mathcal{F}(\lambda)$  is a nonnegative real number. Hence  $\mathcal{F}(\lambda) = 0$ , so either  $\lambda^r = 1$  or  $F(\lambda) = 0$ . But  $F(\lambda) = (\lambda^s - 1)/(\lambda - 1)$ . So  $F(\lambda) = 0$  implies  $\lambda^s = 1$ . Therefore, choosing  $\lambda$  to be a primitive nth root of unity shows that either  $r \equiv 0 \mod n$  or  $s \equiv 0 \mod n$ , as required.

(3)  $\Longrightarrow$  (2). Let |r-s|=1 and either  $r\equiv 0 \bmod n$  or  $s\equiv 0 \bmod n$ . Then H(r,n,s) is the trivial group by Lemma 2.2.

(2) 
$$\Longrightarrow$$
 (1). A trivial group is perfect.

Conjecture 1.1 follows from Theorem A.

Corollary 3.3. Let  $k, r, s, q \ge 1$  and  $n \ge 2$ . If  $k \equiv qr+1$ , then P(r, n, k, s, q) is perfect if and only if |r-s| = 1 and either  $k \equiv 1 \mod n$  or  $k \equiv 1 + q(r-s) \mod n$ .

*Proof.* If the conditions in the statement of the corollary hold, then P(r, n, k, s, q) is trivial by Lemma 2.2, and hence perfect.

Suppose P(r, n, k, s, q) is perfect, where k = qr + 1. Let N = n/(n, q). Then P(r, n, k, s, q) is the free product of (n, q) copies of  $H(r, N, s) \cong H(s, N, r)$ . By Theorem A we have |r - s| = 1, and either  $r \equiv 0 \mod N$  or  $s \equiv 0 \mod N$ . Therefore, either  $qr \equiv 0 \mod n$  or  $qs \equiv 0 \mod n$ . As  $k \equiv qr + 1 \mod n$ , if  $qr \equiv 0 \mod n$ , then  $k \equiv 1 \mod n$ . Suppose  $qs \equiv 0 \mod n$ . If s = r + 1, then  $q(r + 1) \equiv 0 \mod n$ , so  $k \equiv 1 - q \mod n$ . Similarly, if s = r - 1, then  $q(r - 1) \equiv 0 \mod n$ , so  $k \equiv 1 + q \mod n$ , as required.

We now prove Corollary B.

Proof of Corollary B. It suffices by [40, Theorem A] to show that if  $r \not\equiv 0 \mod n$  and  $s \not\equiv 0 \mod n$ , then the group H(r/2, n/2, s/2) is not perfect. Suppose for contradiction that these conditions hold but H(r/2, n/2, s/2) is perfect. Then in particular either  $r/2 \equiv 0 \mod n/2$  or  $s/2 \equiv 0 \mod n/2$  by Theorem A, so either  $r \equiv 0 \mod n$  or  $s \equiv 0 \mod n$  which contradicts the assumptions above.

### 4 Groups of type $\tilde{\mathfrak{Z}}$

In this section we prove Theorem C by showing that the perfect Prishchepov groups of type  $\mathfrak{J}$  are closely related to the generalized Sieradski groups. But first, we mention some relevant results about the generalized Sieradski groups.

**Theorem 4.1.** ([8, Corollary 3.2]) For  $r \geq 2$ , the generalized Sieradski group S(r, n) is infinite if and only if  $n \geq (4r - 2)/(2r - 3)$ .

By the main result of [8], S(r,n) corresponds to a spine of the n-fold cyclic covering of the 3-sphere branched over the torus knot K(2r-1,2), that is, the Brieskorn manifold M(n,2r-1,2) in the sense of [31]. By [2, 34], the manifold M(n,2r-1,2) is an integer homology sphere if and only if (n,4r-2)=1. It then follows from this that  $S(r,n), r \geq 2$  is perfect if and only if (4r-2,n)=1. An alternative but elementary proof of this result is given below.

**Lemma 4.2.** Let  $n, r \ge 2$ . Then S(r, n) is perfect if and only if (4r - 2, n) = 1.

*Proof.* As mentioned in Section 1 it is enough to show that the representer polynomial f(t) of  $S(r, n)^{ab}$ , that is,

$$f(t) = \sum_{i=0}^{r-1} t^{2i} - t \sum_{i=0}^{r-2} t^{2i}$$
$$= (t^{2r-1} + 1)/(t+1)$$

is a unit in the ring  $\mathbb{Z}[t]/\langle t^n-1\rangle$ . Note that f(t) is a unit if and only if the quotient R of  $\mathbb{Z}[t]/\langle t^n-1\rangle$  by the ideal generated by (1+t)f(t) is the zero ring. But  $(1+t)f(t)=t^{2r-1}+1$ , so in R,  $t^{4r-2}=1$ . Hence R is the zero ring if and only if (4r-2,n)=1, as required.

We now give a proof of Theorem C. Recall that P(r, n, k, s, q) is of type  $\tilde{\mathfrak{Z}}$  if either  $2(k-1) \equiv q(r-s) \mod n$ , that is, it is of type  $\mathfrak{Z}$ ; or  $q(r+s) \equiv 0 \mod n$ , that is, it is of type  $\mathfrak{Z}'$ .

Proof of Theorem C. (1)  $\Longrightarrow$  (2). Let P(r,n,k,s,q) be a perfect group. Then by Lemma 2.1 we have |r-s|=1. Since  $r\geq s$  by assumption, we have s=r-1. If (n,q)>1, then (n,q) does not divide k-1 since (n,q,k-1)=1 by assumption, so P(r,n,k,r-1,q) is not perfect by Lemma 2.3. Hence (n,q)=1. Let (n,k-1-qr)=N. Then there is an epimorphism

from P(r, n, k, r-1, q) to P(r, N, qr+1, r-1, q) sending  $x_i$  to  $x_{i \mod N}$   $(0 \le i < n)$ . Since (n, q) = 1, the group P(r, N, qr+1, r-1, q) is isomorphic to H(r, N, r-1). Hence by Theorem A, P(r, N, qr+1, r-1, q) is perfect if and only if  $r \equiv 0 \mod N$  or  $r \equiv 1 \mod N$ .

The type  $\tilde{\mathfrak{Z}}$  condition implies that  $2r \equiv 1 \mod n$  or  $2(k-1) \equiv q \mod n$ . Suppose first that  $2r \equiv 1 \mod n$ . Then  $2r \equiv 1 \mod N$ . Since  $r \equiv 0 \mod N$  or  $r \equiv 1 \mod N$ , we conclude that N=1. Also if the condition  $2(k-1) \equiv q \mod n$  holds, then  $2(k-1) \equiv q \mod N$ . But by assumption  $k-1 \equiv qr \mod N$ . Hence  $q(2r-1) \equiv 0 \mod N$ . Since (n,q) = 1, we have that  $2r-1 \equiv 0 \mod N$ . Therefore as before we obtain that N=1.

(2)  $\Longrightarrow$  (1). Let the conditions (n,q)=1, |r-s|=1 and (n,k-1-qr)=1 hold. Suppose first that  $2(k-1)\equiv q \bmod n$ . Then (n,q)=(n,2(k-1))=(n,k-1)=1. So n is odd and

$$P(r, n, k, r - 1, q) \cong P(r, n, k, r - 1, 2(k - 1))$$
  
 $\cong P(r, n, 2, r - 1, 2)$   
 $\cong S(r, n).$ 

Hence, as n is odd it suffices to show that (n, 2r - 1) = 1 by Lemma 4.2. This follows from the assumption (k - 1 - qr, n) = 1 for the following reason. The condition (n, 2r - 1) = 1 holds if and only if (n, (2r - 1)(k - 1)) = 1 since (k - 1, n) = 1. But (n, (2r - 1)(k - 1)) = (n, k - 1 - qr), as required.

On the other hand, suppose that  $q(2r-1) \equiv 0 \mod n$ . Since (n,q)=1 we have that  $2r \equiv 1 \mod n$ . As before we conclude that n is odd. Also, the assumption (n,q)=1 implies that there exists integers  $1 \leq p, \bar{q} \leq n$  such that  $\bar{q}q \equiv 1 \mod n$  and  $\bar{q}(k-1) \equiv p \mod n$ . Hence  $P(r,n,k,r-1,q) \cong P(r,n,p+1,r-1,1)$ . Since  $k-1 \not\equiv 0,q \mod n$  by assumption, we have that  $2 \leq p < n$ . Hence  $P(r,n,p+1,r-1,1)^{ab} \cong P(p,n,r+1,p-1,1)^{ab}$  by Lemma 2.6. Therefore, we have

$$P(r, n, k, r - 1, q)^{ab} \cong P(r, n, p + 1, r - 1, 1)^{ab}$$

$$\cong P(p, n, r + 1, p - 1, 1)^{ab}$$

$$\cong P(p, n, r + 1, p - 1, 2r)^{ab}$$

$$\cong P(p, n, 2, p - 1, 2)^{ab}$$

$$\cong S(p, n)^{ab}.$$

As n is odd it suffices to show that (n, 2p-1) = 1 by Lemma 4.2. This follows from the assumption (k-1-qr, n) = 1. To see why this is true notice that (n, 2p-1) = 1 if and only if (n, qr(2p-1)) = 1 since  $2r \equiv 1 \mod n$  and

$$(n,q) = 1$$
. Using  $\bar{q}(k-1) \equiv p \mod n$ , we have that  $(n,qr(2p-1)) = (n,2r(k-1)-qr) = (n,k-1-qr)$ , as required.

We now prove Corollary D

Proof of Corollary D. (1)  $\Longrightarrow$  (2). Let P(r, n, k, s, q) be the trivial group. Then s = r - 1 by Lemma 2.1. Since P(r, n, k, s, q) is of type  $\mathfrak{Z}$  by assumption, it follows from the proof of Theorem C that  $P(r, n, k, s, q) \cong S(r, n)$ . First suppose that  $n \geq 3$ . Then by Lemma 4.2 P(r, n, k, s, q) is infinite if  $r \geq 3$  or  $n \geq 6$ . Hence we can assume that r = 2 and n = 3, 4, 5. These give rise to finite groups of order 8, 24, 120 respectively. Therefore n = 2. Hence, either  $k \equiv 1 \mod n$  or  $k \equiv 2 \mod n$ , as required.

$$(2) \implies (1)$$
. This is by Lemma 2.2.

### 5 On Theorem E

We deduce Theorem E from Corollary 2.5 as follows.

Proof of Theorem E. Let  $P(\alpha n + r, n, k, \beta n + r - 1, q)$  be a perfect group and let (n, q, k - 1) = 1. By Lemma 2.3 we have  $k - 1 \equiv 0 \mod (n, q)$ . It then follows from the assumption (n, q, k - 1) = 1 that (n, q) = 1. Hence by Corollary 2.5, we have

$$|P(\alpha n + r, n, k, \beta n + r - 1, q)^{ab}| = |(\alpha - \beta)n + 1| \times |P(r, n, k, r - 1, q)^{ab}|.$$

Therefore,  $\alpha = \beta$  and P(r, n, k, r - 1, q) is perfect. The converse direction is straightforward.

The following classification of perfect groups  $G_n(q, k-1) = P(2, n, k, 1, q)$  provides some support for Conjecture 1.3.

**Theorem 5.1** ([32, 38]). Suppose (n, q, k - 1) = 1. Then  $G_n(q, k - 1)$  is perfect if and only if  $((n, 6) = 1 \text{ and } q \equiv 2(k - 1) \text{ mod } n)$  or  $k \equiv 1 \text{ mod } n$  or  $k \equiv 1 + q \text{ mod } n$ .

By combining Theorem 5.1 and Lemma 2.6 we deduce the following.

Corollary 5.2. Let  $n \ge 2$  and  $r \ge 1$  be integers. The group P(r, n, 3, r-1, 1) is perfect if and only if (6, n) = 1 and  $2r \equiv 1 \mod n$ , or  $r \equiv 0 \mod n$ , or  $r \equiv 1 \mod n$ .

*Proof.* If r = 1, then P(r, n, 3, r-1, 1) is trivial, so perfect. Hence, we assume that  $r \geq 2$ . By Lemma 2.6 the group P(r, n, 3, r-1, 1) is perfect if and only if P(2, n, r+1, 1, 1) is perfect. The result follows by Theorem 5.1.

The next result extends Theorem 5.1 to the case where  $r \equiv 2 \mod n$ , and classifies the trivial groups in this setting.

**Corollary 5.3.** Let  $k, q \ge 1$ ,  $\alpha, \beta \ge 0$  and  $n \ge 2$  be integers such that (n, k-1, q) = 1. Then

- 1.  $P(\alpha n + 2, n, k, \beta n + 1, q)$  is perfect if and only if  $\alpha = \beta$ ; and (i)  $k \equiv 1 \mod n$ ; or (ii)  $k \equiv 1 + q \mod n$  or (iii)  $((n, 6) = 1 \text{ and } q \equiv 2(k 1) \mod n)$ .
- 2.  $P(\alpha n + 2, n, k, \beta n + 1, q)$  is trivial if and only if  $\alpha = \beta$  and either  $k \equiv 1 \mod n$  or  $k \equiv 1 + q \mod n$ .

Proof. Part 1 is immediate from a combination of Theorem E and Theorem 5.1. For part 2, suppose that  $P(\alpha n + 2, n, k, \beta n + 1, q)$  is the trivial group. Then by part 1 we have that  $\alpha = \beta$  and either  $k \equiv 1 \mod n$  or  $k \equiv 1 + q \mod n$ , so the group is trivial by Lemma 2.2; or  $((n, 6) = 1 \mod q \equiv 2(k-1))$ . In the latter case the group is isomorphic to  $S(\alpha n + 2, n) = P(\alpha n + 2, n, 2, \alpha n + 1, 2)$  as (n, q, k - 1) = 1 by assumption. Since (n, 6) = 1, it follows that  $n \geq 5$ . Therefore, by Theorem 4.1 if  $S(\alpha n + 2, n)$  is finite, then  $\alpha = 0$  and n = 5, that is, the group S(2, 5), which is not the trivial group.

### 6 Conclusion

In this article, we dealt with the question of when cyclically presented groups of type  $\mathfrak{F}$  are perfect or trivial. We showed that to answer this question it is enough to restrict to the sub-family of Prishchepov groups. In terms of perfectness, a complete classification was given for the Prishchepov groups of type  $\tilde{\mathfrak{J}}$  and Conjecture 1.3 implies that this is sufficient. In other words, a proof of Conjecture 1.3, together with Theorem C, will yield the classification of perfect cyclically presented groups of type  $\mathfrak{F}$ .

Some evidence was provided in support of Conjecture 1.3. Also, we have and verified the conjecture computationally for  $n \leq 340$ . Except for the trivial groups P(r,n,k,s,q) which occur when the conditions of Lemma 2.2 hold, the pieces of evidence in this article supporting Conjecture 1.3 imply that if (n,k-1,q)=1 and P(r,n,k,s,q) is the trivial group, then the condition  $2r\equiv 1 \mod n$  must hold. Hence it is natural to ask the following question.

**Question 6.1.** Let  $2 < k \le n$  and  $r \ge 4$  be integers. Is it true that P(r, n, k, r - 1, 1) is not the trivial group?

Note that Question 6.1 has a negative answer if we allow r=3. Indeed, it can be checked in GAP [21] that the groups P(3,5,3,2,1) and P(3,5,5,2,1) are trivial. These groups are the only counter-examples we know that stop the conditions in Lemma 2.2 from being necessary for P(r,n,k,s,q) to be the trivial group, assuming (n,k-1,q)=1. We expect an affirmative answer to Question 6.1, and this is supported by results in this article, and also by the list of trivial groups given in [16, 20]. Since every perfect (in particular trivial) group P(r,n,k,r-1,q), such that (n,k-1,q)=1 holds, is isomorphic to one of the form P(r,n,K,r-1,1), given Theorem C, a proof of Conjecture 1.3 together with an affirmative answer to Question 6.1, will yield a complete classification of trivial groups of type  $\mathfrak{F}$ .

### Acknowledgements

The first author's research is supported by the Leverhulme Trust Research Project Grant RPG-2017-334. The first author thanks Chimere Anabanti for the encouraging discussions at the onset of this work. Both authors thank Jim Howie and Gerald Williams for reading through earlier drafts of this manuscript and making useful suggestions, and the referee for insightful observations that led to improvements in the article.

#### References

- [1] William A. Bogley and Gerald Williams. Coherence, subgroup separability, and metacyclic structures for a class of cyclically presented groups. J. Algebra, 480:266–297, 2017.
- [2] Egbert Brieskorn. Beispiele zur Differentialtopologie von Singularitäten. *Invent. Math.*, 2:1–14, 1966.
- [3] C. M. Campbell and E. F. Robertson. On metacyclic Fibonacci groups. Proc. Edinburgh Math. Soc. (2), 19:253–256, 1974/75.
- [4] C. M. Campbell and E. F. Robertson. A note on Fibonacci type groups. Canad. Math. Bull., 18(2):173–175, 1975.
- [5] C. M. Campbell and E. F. Robertson. On a class of finitely presented groups of Fibonacci type. *J. London Math. Soc.* (2), 11(2):249–255, 1975.

- [6] Colin M. Campbell and Edmund F. Robertson. Finitely presented groups of Fibonacci type. II. J. Austral. Math. Soc. Ser. A, 28(2):250– 256, 1979.
- [7] James W. Cannon, William J. Floyd, LeeR Lambert, Walter R. Parry, and Jessica S. Purcell. Bitwist manifolds and two-bridge knots. *Pacific J. Math.*, 284(1):1–39, 2016.
- [8] A. Cavicchioli, F. Hegenbarth, and A. C. Kim. A geometric study of Sieradski groups. *Algebra Colloq.*, 5(2):203–217, 1998.
- [9] Alberto Cavicchioli, Friedrich Hegenbarth, and Dušan Repovš. On manifold spines and cyclic presentations of groups. In *Knot theory (Warsaw, 1995)*, volume 42 of *Banach Center Publ.*, pages 49–56. Polish Acad. Sci. Inst. Math., Warsaw, 1998.
- [10] Alberto Cavicchioli, E. A. O'Brien, and Fulvia Spaggiari. On some questions about a family of cyclically presented groups. *J. Algebra*, 320(11):4063–4072, 2008.
- [11] Alberto Cavicchioli, Dušan Repovš, and Fulvia Spaggiari. Topological properties of cyclically presented groups. *J. Knot Theory Ramifications*, 12(2):243–268, 2003.
- [12] Alberto Cavicchioli, Dušan Repovš, and Fulvia Spaggiari. Families of group presentations related to topology. *J. Algebra*, 286(1):41–56, 2005.
- [13] Ihechukwu Chinyere and Gerald Williams. Hyperbolicity of T(6) Cyclically Presented Groups.  $arXiv\ preprint\ arXiv:2006.09018,\ 2020.$
- [14] Ihechukwu Chinyere and Gerald Williams. Hyperbolic groups of Fibonacci type and T(5) cyclically presented groups. J. Algebra, 580:104– 126, 2021.
- [15] J. H. Conway, J. A. Wenzel, R. C. Lyndon, and Harley Flanders. Problems and Solutions: Solutions of Advanced Problems: 5327. Amer. Math. Monthly, 74(1):91–93, 1967.
- [16] J. E. Cremona and M. Edjvet. Cyclically presented groups and resultants. *Internat. J. Algebra Comput.*, 20(3):417–435, 2010.
- [17] Philip J. Davis. *Circulant matrices*. John Wiley & Sons, New York-Chichester-Brisbane, 1979. A Wiley-Interscience Publication, Pure and Applied Mathematics.

- [18] Martin Edjvet. On irreducible cyclic presentations. *J. Group Theory*, 6(2):261–270, 2003.
- [19] Martin Edjvet and Arye Juhász. The infinite Fibonacci groups and relative asphericity. *Trans. London Math. Soc.*, 4(1):148–218, 2017.
- [20] Martin Edjvet and Jerry Swan. On irreducible cyclic presentations of the trivial group. *Exp. Math.*, 23(2):181–189, 2014.
- [21] The GAP Group. GAP Groups, Algorithms, and Programming, Version 4.11.0, 2020.
- [22] N. D. Gilbert. Labelled oriented graph groups and crossed modules. *Arch. Math. (Basel)*, 108(4):365–371, 2017.
- [23] N. D. Gilbert and James Howie. LOG groups and cyclically presented groups. *J. Algebra*, 174(1):118–131, 1995.
- [24] James Howie. On the asphericity of ribbon disc complements. *Trans. Amer. Math. Soc.*, 289(1):281–302, 1985.
- [25] James Howie and Gerald Williams. Tadpole Labelled Oriented Graph groups and cyclically presented groups. *J. Algebra*, 371:521–535, 2012.
- [26] James Howie and Gerald Williams. Fibonacci type presentations and 3-manifolds. *Topology Appl.*, 215:24–34, 2017.
- [27] D. L. Johnson. Topics in the theory of group presentations, volume 42 of London Mathematical Society Lecture Note Series. Cambridge University Press, Cambridge-New York, 1980.
- [28] D. L. Johnson and H. Mawdesley. Some groups of Fibonacci type. *J. Austral. Math. Soc.*, 20(2):199–204, 1975.
- [29] D. L. Johnson, J. W. Wamsley, and D. Wright. The Fibonacci groups. Proc. London Math. Soc. (3), 29:577–592, 1974.
- [30] Kirk McDermott. On the topology of the groups of type 3. Topology and its Applications, page 107767, 2021.
- [31] John Milnor. On the 3-dimensional Brieskorn manifolds M(p,q,r). In Knots, groups, and 3-manifolds (Papers dedicated to the memory of R. H. Fox), pages 175–225. Ann. of Math. Studies, No. 84. 1975.
- [32] R. W. K. Odoni. Some Diophantine problems arising from the theory of cyclically-presented groups. *Glasg. Math. J.*, 41(2):157–165, 1999.

- [33] Matveĭ I. Prishchepov. Asphericity, atorisity [atoricity] and symmetrically presented groups. *Comm. Algebra*, 23(13):5095–5117, 1995.
- [34] H. Seifert. Topologie Dreidimensionaler Gefaserter Räume. *Acta Math.*, 60(1):147–238, 1933.
- [35] Allan J. Sieradski. Combinatorial squashings, 3-manifolds, and the third homology of groups. *Invent. Math.*, 84(1):121–139, 1986.
- [36] Fulvia Spaggiari. Asphericity of symmetric presentations. *Publ. Mat.*, 50(1):133–147, 2006.
- [37] Agnese Ilaria Telloni. Combinatorics of a class of groups with cyclic presentation. *Discrete Math.*, 310(22):3072–3079, 2010.
- [38] Gerald Williams. Unimodular integer circulants associated with trinomials. *Int. J. Number Theory*, 6(4):869–876, 2010.
- [39] Gerald Williams. Largeness and SQ-universality of cyclically presented groups. *Internat. J. Algebra Comput.*, 22(4):1250035, 19, 2012.
- [40] Gerald Williams. Generalized Fibonacci groups H(r, n, s) that are connected labelled oriented graph groups. J. Group Theory, 22(1):23–39, 2019.

Department of Mathematical Sciences, University of Essex, Colchester, Essex CO4 3SQ, U.K.

E-mail address, Ihechukwu Chinyere: ihechukwu.chinyere@essex.ac.uk

Department of Mathematics, Kwame Nkrumah University of Science and Technology, Ghana.

E-mail address, Bernard Oduoku Bainson: bboduoku@knust.edu.gh